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oejenrast : (1) Smarsg camss@ph &flurs udleurdl o ETeTHT 6T e LIS emen
sAuridgs CameTera]d. oFsriLefed Gopuipridar SN E
samesTanilliuremiDd o Larqwirss QgMeil&sal.
2) Beod Sdag &mUY @wbulloar GG W euSHEGLW
<Ny 5C5M HeughEh LwaLhSS Couam(HLd. LILTBISET euamieusDE
Quenéled LweTUHGSELD.

Instructions : (1) Check the question paper for fairness of printing. If ‘there is any lack of
_ ~ fairness, inform the Hall Supervisor immediately.
(@) Use Blue or Black ink to write and underline and pencil to draw diagrams.

GmiLiy : ugé,] 1 (2@f-greuredwe), L@ -1 (2Wlf-clomdud) safllssaf
alerLggmafledr eflenL_wiafl&ee, .
Note : Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate

answer books.

L@ -1 (2_udfl - greurelwed) / PART - I (BIO - BOTANY)
(gli@uarser : 35) / (Marks : 35)

19fley - 1 / SECTION - 1

@Ily : () Semesg damssEnsEn eloLwallEsa. 8x1=8
(i) Qer@ésuul(@erer wrpm eleLseale Wseabd gHymLW
AL aws CersQs0588 GHULGLE efleLwamanyb Csrsg
eT(RSELD.
Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
- write the option code and the corresponding answer.
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1.

WS egor (LD ‘@l_mG]our;rrrg) saflh erg) ?
(@{) @BLTmeT (<) LIMEVLIFE
(@) CQurliLrdflub () &re&wid

The element which is not remobilized :

(a) Nitrogen (b) Phosphorous

(c) Potassium (d) Calcium

Spssa_cupenp LigHS! silwrer ellenenw GCarbsHESa]LWD.

craaumie eramiuBeug QuLlLrasassneE CeuelGu yGrm GLresed

<SG LDBHGICTETS)

cranT L& ererli L (h el gl u@unﬁ_ﬁl_rrm&sugb DLWLSE S Gpr&é

&mmﬁ;@eﬁm@

Qe _yrié eramiu@eig LGrm CLrasasin@ hiHelw QuolLrengald
DML HGICTETS

Bevrié erariu@aig QulLrasasdbE phHao LCrm_CLrengeld

S| GLDHSICTETG

Q)
()
(i)
(iv)

(<2t) (), (ii) wHpDID (iv) LB (<) (), (i) wopmid (i) -G
(@) (i), (i) wp> (v) LLOD  (7) Qo ANTEH
Read the following sentences and identify the correctly matched sentences.

‘ iti i ide of metaxylem.
iy Inexarch condition the protoxylem lies outside y

m lies towards the centre.

(
(i) In endarch condition the protoxyle
the middle of protoxylem.

(iii) In centrarch condition the metaxylem lies in
(iv) In mesarch condition protoxylem lies in the middle of metaxylem.

(@) (@), (i) and (iv) only ®) (), (i) and (iii) only
(c) (i), (iii) and (iv) only (d) All of these
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Gemeu@®L greaurmseie afe si5 Qurl( PLETTS 2 @HWrHod

Qupisipg) ?

(=0 QABEe (ap) e

(@) HenyaThE LD (%) spbeoreed
Axillary bud is modified into thorns in :

(a) Bambusa _ (b) Citrus

(c) Chrysanthemum (d) Oxalis

Qb GO @Qa&6T el Gmsea L 1d Gleuaur Sjep&slu@D
(=) LOGDS Go® GRS (<) Qe Go& Goa GRS
(8) vaGHs Gaw GesLIenL () Cupaadlw ﬁ@jm@@mm

Gynoecium with united carpel is termed as :

(a) syncarpous (b) apocarpous

() multicarpellary (d) none qf the above

rrAfley sraund @rdlu Cablis srair shEHanwé Qaremg?

(1) <G5 ACuTELGLITDEET (<) QLAGLT eoLIL&ET

(@) WergGuimsoanLIL &6 () sibGanmallLmbaer

i ?
Which of the plant group has gametophyte as a dominant phase ?

i t
(a) Angiosperms (b) Pteridophytes

(c) Bryophytes (d) Gymnosperms
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6. &SpssaL uLsdeer 2 pmCHTES sAurer efenLepi GaihosHésa .
A
B
C

@ A Buwppd C gan® meflfern aflavGLGsmen wyetb.

(i) A Gu@eoer sfismer 2 (harsEins

(i) B - umenilepil 2 (HeUTSEGH D)

iv) C- ynsGgrera 2 (HaursEHng

(<=1) (i) LHDID (iv) LG (<) () wHYD (i) w G
(8) (i) wdmId (i) wi (b () () whHmd (i) GO

Refer to the given figure and select the correct statement.
A
B
&

(i) A, Band C are histogen of shoot apex
(i) A gives rise to medullary rays

(i) B gives rise to cortex

(iv) C gives rise to epidermis

(a) (iii) and (iv) only (b) (i) and (ii) only
(c) (i) and (iii) only - (d) (i) and (iii) only
7 qCSJnLCSI_nﬁlmrr&g,mg, (pEeD (g)gjeurra; 5mLﬁpg,mw
(1) anmiig <) abGareurenGLomed
(@) &mirlg. (rr) an&e &l
Protoplasm was first observed by :
(a) Hardy (b) Hugovanmohl
(c) Cortd (d) Huxley

8. Qg spnAuder sflwmrer aufleng :
(&)M-G-GZ-S (%)S"M'Gl'Gz
(8) S-G;-G,-M () Gy-5-G,-M
The correct sequence in cell cycle is :

(@) M-G-G,-S 5-M-G; -G,
() S-G;-G,-M (d) G;-5-G;-M
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@lﬂl:"-l : ermeuGuignd Erswi(E, eflamda erpéi ellenLwafll&sa. eQleurm eraRT 14 -8
sLLnmuwrs el el&seb. 4x2=8

Note : Answer any four questions. Question No. 14 is compulsory.

5 Qe CLrflur QuiGarafiwreler gGsabd Gran® wai LaTHS®E
o6& &S

Give any two floral characteristics of Clitoria ternatea.

10. Bflwe Henens SU_HUUOSSHID sEmnisen wremel ?

What are the parameters which control water potential ?

11. 2 (HLTHID SETELD Grampmrad GTGuen ?

What is plasticity ?

. . - . ' . . Hl él lu
12. EMP & @{é’;g‘pl_gé]@ Lre Lifl & Fewrd WO Mo Lure GuLl BEH&ED <
| Aanensaiiery FHLGD QAErEaamer 6T(HEIS- |
i ' ti
What are the enzymes involved in phosphorylation and dephosphorylation reactions
at are : _ he

in EMP pathway ?

13. méﬁés@asshasaﬂah @urrg,jli; LIGRTL| SHEDaT ﬂ@@]&.‘

Give general account on Lichens.

N : - I ESTL 5.
14. LDQerdGLTEV 6D GTETMITE) “Gre"tfraﬂ ? I 6f @,5513555”‘—@ &M

i ? Give an example.
What is plectostele ? Giv T .
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\9fey - 3 / SECTION - 3

Gy : sTemeuCGLIEnILD eLpetT) aﬁ]mrrésas@é;@ eflen_wafl&sayb. ellen eram 19 -&(&

sSLLmwuns efleLweféseywb. 3x3=9
X =

Note : Answer any three questions. Question No. 19 is compulsory.

15.

16.

17.

18.

19.

eanflevsev Crrerangearenaden e e cuerULLD GuaEgl el GSrsms

T(PGIS.

Draw the floral diagram and write the floral formula of Hibiscus rosasinensis.

@@ wrsda En&GAu (s Carpnsde sremiuBb CUTE bW
GUENGTILIEIGET GUGTITES cueneTWBIGET erarliLDEDg. cUaTTES GUENET Ik &ET
GreueUMD 2 (Heurdlenmen ? Sigen (pESHudgieud wrg ?

A transverse section of the trunk of a tree shows concentric rings which are known as
growth rings. How are these rings formed ? What is the significance of these rings ?

DNA -cflerr SfpUiliwedger wrenel ?

Write the characterisﬁc features of DNA.

QaEREED 2-arer Gaupurpser wrenel ?

ferii@ QFDaERSEGLD, ST Ol&

Write the differences between plant cell and animal cell.

alsCarsamsuden gCaeD AP PEALISFUSDS CTPEIS.

Write any three significance of photosynthesis.
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Wfley - 4 / SECTION - 4
@Iy : SAmenSg) elamssEnsen el alésab. 2x5=10

Note : Answer all the questions.

20. (1) Coreilgmefen Spliy Ligmysener (LS.
360605
(<) el Lrélen, Wwrdev Gaupium_enL eflaré@s.
(a) Write the distinguishing features of Monera.
- OR

(b)  Differentiate between Mitosis and Meiosis.

21. (=) <58 Gurev QUIrb saflam L& &l u e gmiid o arapl L (e uilaman
e9euf&&e,LD.

NNV
(<=,) edliredlar @Jrnc.paﬁlﬂjeb aflenaTay &6 Wrene ?
(a) Explain the insectivorous mode of nutrition in angiosperm.
OR

(b)  Write the physiological effects of Gibberellin.
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UGS = I (2_uqf - aﬁlm@aﬁlmm)/mm- 11 (BIO - ZOOLOGY)
(wdluGueaer : 35) / (Marks : 35)
: | Sifley -1 / SECTION - 1
GO : () ewesg eNamssErsEEn el alésa)b.
(i) @&W@&S&SL.‘II_IL'_CI?\.GiTaT wrom deLselld WHseb eghyeL
@Slem_em.lug, Cs 050516 GRS GLar elamulamanuybd GCarss)
o STAREEYLD,
Note : (i) Answer all the questions.

(1) C11POSE the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.

1. a?@é;aas&m% aursHismer Ligss flurer ufoa sambliiydsl TRSIs:
(1) it sruumdn ysdlule penm s& LI soE AararL @i G)ea
Apsanisar 4 - 6 auldms 6L s&ailen LESMMTL 196 LEESSHDG

8x1=8

GREUTDITE 2_GITETE.
(i) &mermen euig.eud &G/ w i flGam ST e Srlume
@emQUBES aRTL_SSIL6T QeneThs R(b Quflw glenamr @QeQLHES
- STUSwrELD. |
Quearr sruuraLFld @i @eman i@ sk sd 2 - 6 s\ Hm &
saTL_tisallen Lssamigd LEESHDEG s o _GTEITET. |
(iv) Quam syiurer L&dludle parE Smass @f Gaan 0 eu 6t anll &
QamreGel M Srindlse SiamLssHan auESuicr 2 arng).
=) eursSwmiger (i), (i) wpmib (iv) s fiea saum, HCHEOWD (i) gifl
CLoCes 2 GT6T SIMESE] eUTSELBISEBLD &ifl
(@) CuGe 2 6TeT ADASF) QUTESIIRISEHD S0l
(FF) aursdwiisar (i), (i) opoid (i) < Hwenel &, <iGggwwid (i) Heum

Read the following statements and choose the correct option.
(i) A pair of 3-lobed testes lies on the lateral side of the Ath to 6th abdominal segment

in male cockroach.
(ii) Mushroom/ Utricular. g

%bé:ﬂuﬁlém
(i)
(

(<)

land is a large accessory reproductive gland in male

cockroach. RO Wi d h ! .

(i) A pair of ovaries lies laterally in the 2" to 6 abdominal segment 1 female
cockroach. ' ; . R

hed collaterial glands are present behind the ovaries in

(iv) A pair of white and branc
female cockroach.

(a) Statements (i), (ii) and (iv

)  All the above statements are true

) All the above statements are false

(
(d) Statements (i), (i) and (iv) are true,

) are false, whereas (iii) is true

whereas (iii) is false

B ,
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QumBSSS

(1) umregrmu@ apriGore @) oigsaier Gpmi
(2) @@és@aarrasfrr‘nora;wu’_l‘(a apmiGuorer (i) LOGTLGOE SN
3) eosrra&edlen @rrr'r@mrr&r (i) Qe

(1) ouarigd aomiGordr (v) 21ECrrQuwsns
(=) (1)-(ﬁ5), (2)-). (3)-(i), (4)-(iv)

(<) (V)-(H), (2)-Gv), B)-(i), 4)-()

(&) 1V) (2 -(1), (3)-(i), (4)-(ii) -

(%) (1)-(i);(2?;(ﬁi)f (3)-(iV)f (4)-(id)

Match the foﬂo%yirig A

(1) Parathjroid hormoh'o | @) Addisoo’s.disease
(2) Glucocorﬁcoid hormone ‘ (ii)‘ Endemic goitre
(3) Thyroxir'iel hormone : : (111) Tetany

(4) Growth ho;%one | (i‘}), I‘Acrol;ﬁlegaly

@ (G, @0, O-6) 6
b (W), Q-G O, G-

@ (M), @0, @), @G

@ (-G, @), @)-0v), @)

[ Hmiiys / Turn over
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3.

EGp Cder@ssiule a@sLurl (s &meesalo SEUNTET QRETE D
GCsib0ls(HéseaLb.

(1) DN.A-GEEI]G'U 2 6em SIMUILY ey seamar 9MHg @9 {Heuger epevLd
el el flenw e wrertd STarug DNA -asCrens Qsmifled
[ L_LILDT(GLD.

(=) @by LHpL Cappimvmu eiiueLLTss Qsra) srarksdr
pmid Mok Gsmer s@TLBwu  eumas url®  SoeyCamed ser
Lweru (B &l mg.

() usLLESH @ass Ll L graiy wHmD feongsalar CQgrELliy
2 ullflwed eimmrisTe Hwid eraruL(M&pgl. Qg wrunmt Gurer wHmID
2 WSl@Ler o arer wrEf euflurs o ulferiisemar updl Sidlw 2 geydlmg).

4(F‘F) weaflg Cuhurreea e Qubeamswrer GuHamould sri @
cllomGaamer meusHmisen eNamdued LkisTaseT eramiLifib,

- Which of the following is an incorrect taxonomical tool ?

(a) DNA- Fingerprinﬁng - To identify an individual from a sample of DNA by looking
at unique patterns in their DNA.

(b) Taxonomical keys are used to identify plants and animals based on similarities
~ and dissimilarities.

(c) A Museum has a collection of preserved plants and animals of extinct and living
i organisms, which can be studied.

(d) Zoological parks - Wild animals are kept in natural environment without

human care.
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lﬁ‘G'NGU@L'D. UL§Hd o dren urshsaid g (pgAsQIDY ASTLITS Al
waiPs@bGayer wrHEH Aaiutiu@dps ?

@) GHEHD ProY G
@ GyEpT

L@ | ® QsrameLLi Getasar
SOF SETL_BISET
()2 (<) 4 (@) 3 () 1

Which of the following structure leads to the formation of vertebral column of adult
vertebrates ?

Dorsél hollov(; nerve cord
(2) Notochord

‘ @ Pharyngeal slits
@ Muscle Segrnents

() 2 | (bif 4 (Q)'3 d 1

weflg samanties gl Gl&a)@uaﬂmg) e LTS :
) a;rrrrmﬂu_lrr - G\a)amm - sErmsgar > alfsslor
rrrreotsﬂu_lrr =y a@gasqmrr s (e ST Sleud — Qevared — eNfSSenT

(<

(<) &
(@) aarrrrswﬂu_lrr - Geuemm > (pen Seir Sreuld — A fsSeor
(

rr) giramiium — (50661 asem Sraud — Qadinaiv - aﬂ@gﬁmu

The right path of light in our eye is:

(a) Cornea — Lens — Con]unctwa =3 Retma

(b) Cornea — Conjunctiva — Aqueous humor — Lens — Retina

(c) Cornea —> Lens — Aqueous humor = Retina
(d) Cornea — Aqueous humor — Lens = Retina
[ Sy / Tumn over
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6.

‘%EPGU@@JW@J!DQJGTF SeUDTe @QenawTanlLs HITeHTs.

(<) &Lt Qgdsar - LOGHTL|(Lp&&eT
(<) L&ems &TCIs6T - @présdr

(8) QereGearmansy (e SRR N1 N1 [T -3 1o
() wreodguer guosdr -  uFdser

Find out the wrong pair from the following.

(@) Flame cells - Earthworms

(b)  Green glands - Prawns

(c)  Solenocytes - Amphioxus

(d) Malpighian tubules Insects

Spés@TL eurddwiisaner Ligsg silurar LS GsirbO5[HES6D.
2 DIFlSembmI (A) : Guengd ardfadlwn QaualtiQurpaiar Bg euGLTD
GL6g SLisdwrer Créfl erayd Qurmerer ASsTLTHSE
srédleammg. srolCursded srodlwb sriuGearl L
SADEGHATES GTHg 2 ndwre LeTUeTIUTE (PSS
2 (HeumssLILhdlemmg).
&nrewid (R) : psden LEHLQuIr@LserTs 2 - 4% B LHmD 90%
‘ STl srruCar. o 6TeTg).
(=) eursdlwid (A) seum < ermed eurdSwid (R) &fl.
(<) eumsAwib (A) wpmd (R) @ram@d #f Cogid (R) -<agl (A) -cllpsmen
gflwumrer edleTéaLTEGLD. j
(@) aursSwid (A) wpmid (R) @rar@b &f eyeme (R) -8 (A) -elipsme
sflwrer edler&sbd Baene. k
() eurafwid (A) & gpammed aursEubd (R) seum).
Read the following statements and choose the correct option.
Assertion (A) : Nacre is secreted continuously by the epithelial layer of the mantle

deposited around the foreign particle and over a period of time the
formation of repeated layer of calcium carbonate makes the hard and

, “glossy pearl. | J
Reason (R) :  The pearl comprises of 2 - 4% water and 90 %
(a) Statement (A) is incorrect but statement (R) is correct. ;
(b) Both statements (A) and (R) are correct and (R) is .the correct explanation to (A).
(c) Both statements (A) and (R) are correct but (R) is not the correct explanation

to (A).
(d) Statement (A)

calcium carbonate.

is correct but statement (R) is incorrect.

Qrégsdlen epeod @mnuﬁj@é@# (lgevaLd 5WfrU63Tj6mL-c9J=Da%56mg[q_ém Hlenay :
(=1) STTUTESE) afCor@Gearmiar  (<2b) FTTUTENE SLleld |
(@) <58 afCuorgGarmier () smudlGenr adGlomEGermler

CO, is transported through blood to lungs as : N
(a) : Carboxy haemoglobin (b) Carbonic acid .
(c) Oxy haemoglobin (d) Carbamino haemoglobin
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9fley - 2 / SECTION - 2

G sTeneuGuien b 4 clenrés ensE o wallEseayb. el era 14 -&@&
SLLmuwns eflenweflgesei. g2t

Note : Answer any 4 of questions. Question No. 14 is compulsory.

9. &Grreven QﬂGBTGGOTU_IGiU—& e B ‘meen s LT g Welem Shend’ 6reu
SADWSHCorid ?

Why do we call Carolus Linnaeus as the ‘Father of modern taxonomy’ ?

10. &L (W& SHener e anfle 2ADsGseNd aurliLsms SlgliLmLUTES
G]&;rre&tsr@t 2 FTTMSSIL 6 UaSLILHSSIS.

Classify the earthworms based on their ecological strategies with example.

11. wells 2are varTL@sdd Gareumd Qur@lsda ahg UGS I
2 Hlgraé CarareriiLdng) ?
@) B, Ao safllwnisd, wHmb S WwmbsseT
(i) eraflu sT&SmT LHMLD OSADTED
In which part of the digestive system, absorption of following substances take place ?
(i) Water, some minerals and certain drugs.

(ii) = Simple sugar and alcohol.

12. aﬁ’e’;&é; Qararereney erammmed ereven ? @eveu ereueurm @)% ws S &l (HHg)
QaueliGupd @rés iere|L e QarLyenLwg ?

What is stroke volume ? What is its relation with cardiac output ?

13. @@”r__@uqmﬂ GFGUT[JLI@GUQJ-GF@ ? F6 Sjeueumn SidwssLILGHEDE ?
What is meant by blind spot ? Why is it called so ?

14. soelluupliL] WHmID emeurrrruﬁ]rm Qenl_Gw o arer Coumuim(®) wrg ?

Differentiate nuptial flight and swarming.

B i - [ S®LiYys / Turn over
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SOl : ﬂmm@w@lm 3 aﬁlecrrw;en@er,@ efen_wellgsayb. eflerm arenr 19 -5@
3x3=9

Note :

15,

16.

17.

18.

19.

Yifle) - 3 / SECTION - 3

i
G

SL_L_muions eflenLwiaf&geyLb.

Answer any 3 questions. Question No. 19 is compulsory.

uemrum ()  sGeréCarCul_(HEar
()  erenm CrrEGerCGul Hadr
Define: (i)  Schizocoelomates

(i) Enterocoelomates

¢(H Bufler 2 Wi 180 Q.. jeui o I_aSler eranL 80 &.8). =jeuflen gl_sl) eTEmL
GO L& samLfbE <6 FTSTIERTIDTETEITT @S] LIIFLETTETe T 6Tamd
Sn M.

A person’s height is 180 cm. His body weight is 80 kg. Find out BMI and tell him
whether he is normal or obese.

Spsadlmen UEGH AWSSD Gopeurs o arter GLEigaNd eurpd BHuifle
2 L efled Blspbd WwrHhnhsamersd GHIAHs.
Mention the changes that occur in a person’s body who lives in low partial oxygen

pressure.

Q@b U sMiFFTe) Seugliul(Hé Gl & mesr (b @J@@[Dl‘l'r:r. Uit LD(HSSICUET
Sjam G Gurg S LBHSG el QrsssGergman wrHfl r(H&g) e mLom)
sifleje@r aphGapri. sEGsrgmar SPlsmasllld Qrss Ceuerenar-
wemissehen eramanfléans Hlana eraneareurs QHEEGD ? erem ?

A person suffering from fever is advised to take blood test. What may happen to his
WBC count and why ?

BT &M @(eEsmwal (2lflue sgsrrn) Lenil W emar Gom @ asmer enLb
sronQuier QuUwm eremer ? QF&TUE Blb 2 Ll el @GaTerg D M
oFsrU9u9er srly Curmer wrgl ?
Name the gland that functions as a circadian rhythrh (biological clock) in our body.
Where is it located ? Name its secretion.
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19fey - 4 / SECTION -4

GO : WSS e EnsEh elaLwallEsa|b. 2x5=10

Note : Answer all the questions.

20. (=) er@eSlud eremomed Graven ? <isen LG eumssallan LGTLS®TS

SHS-
9|6060F)

(=) @® BUT GODHS @rss SysssHamsd Ayt CaefGLDD (PrwLmod
SO S pri. grer ? Qb 5l ena ufled &Ia;rﬂmr@ﬂéég,@@&@ﬁ@
sfe)uQur@mlsmer ANS0lEHES f eréleuansTar HMHEDS LflsgienT
Qelieumis ? igaar edleuflésalL.

(a) Whatis an epithelium? Enumerate the characteristic features of different epithelia.

OR

very low blood pressure and passing no urine. Why ?

(b) A person is suffering from
u offer for the removal of waste products from the

What suggestion would yo
blood in such a situation and explain.

CgriGamif Wi gevauiler el wHmb Cewud AOEG %G
- QaaursAugos HUTULLOSSS.
S{60608)

cumrLUm&sa|D. Us, %0 LHHID ﬂ@mwuﬁleb
GLGurg

21. (<)

(=) Qewpans efpHICLLD -
Qeunas o eAbgI LSSl Qeundl eSsib Gemeurs G)(HS
r&Qsmfled) BILLS®S LweTURESeumil HmID HASa g Hlenesener
oQeuflésalb. Ceupens ST LSS HETanDGaneT 6T(pSis. s

#Sarcomere is a structural and functional unit of muscle” - Justify this statement.

(a)
OR

ology is applied to cattle, sheep and

low even after artificial insemination

f artificial insemination.

(b) Define Artificial insemination. What techn
buffaloes when the success rate of crossing is
‘and explain its steps ? Write the advantages o

-000-
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